Section 1 Session 1

1 Write the missing numbers

2 Write the missing numbers

[11]02] [au] [16] [18] [20]

3 Write the missing numbers

b Write how many tens there are. Write how many ones there ore

L0000
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S Draw lines 1 show where the numbers belong

39 36 34

& Write all the missing numbers.

HOOO0ME
- BO0000E
| 0000

E 7 Alfie-has o beg of 10 soffees and 3 more toffees

Show how many he has on this abacus

| 8 Luke ls playing 8 game. He moves his counter from B2 to 87
Draw his counter on this numbar track

|I [ l l l [ ]
9 Write what the missing numbers might be
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Section 1 Sess

1 Find the missing numbers

2 Stortw

5 and & more

on 2

ith the larger number. Gount oA 0 add. Write the total

8 and 3 more

3 Find the differente-by counting ug from the smaller number,

D i D ||

T and (e D

cRRE ¢ @y [ |

b Write the answers
1 more than 12 i ‘—_J

1 less than 27 |5 1 J

10 more than 4O is D

10 [ess than 30 is D

————

5 Write the answers in words

Sxaddfves [ | Nneaddfouris[ |
Three more than five is !:I

& Write the ansuers

The difference between 4 and 3 is D
The difference between 7 and 5 is D

The difference between 10 and 5 is D

7 Wrlze the annwer

Amir has 18 sweets. Jake has 1 sweet fewer than Amir

How many sweets does Jake have?

8 Write the answer
There are 9 birds on the fence. 3 more birds come

How many birds are there now?

9 Write the onswer |
Freya has 8 grapes. Alice has 5 grapes

How many more grapes does Freya have than Alice?
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- ion 3 - - .
sectlon 1 sesslon 5 Use 6 20p cain sach time, Write the answers |

1 Find the difference

I spend 7p. What is my change?

el
Lspend 9p. What is my change? E]
[ el

Lspend bp. How much change do I get?

2 Write the change. 6 Write the missing niumbars

':zapf'l ij?- <5E m | ‘ 4 and 6 make D D and 7'is 10 :
o Gy |l T W

:./'_ N L —
(20p) @‘w_ L]
3 Join poirs to make o total of 10

(6 a 3 & 5 a) i
(7. 2 5§« [ ?]_ . ‘

k' Write the answers

7 Write the answer.

Eva has 8p Tsabel has 3p

| How much more moriey has Eva than Isabel? El

B Write the answer

I have 20p. | buy a comic for 6p.

How much change do [ get? ‘j ':

9 Whrite the answer l
What (s the difference between 6 and &4?

Tom has 4p. Paulo has 6p. |

What is the difference between 5 and 77 D [ How much money de they have in total? E
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What is the difference between 9 and L?




Section 1 Session !+

1 Join palrs that tetal 5

1

2 Write the answers

e
eve=[]

3 Write the differances

b Write the answers
20dd3 s [‘__J 5 subtract 3 (s D 1 add 3 equals D

The difference between 4 gnd 2. [ |

‘ 5 Write the answers.
Double 5 is I:'

| Double b is L—_|

6und6|sD

| 6 Write the answers.
! The difference between 6 and b is D
The difference between 8 and 5 is D

The difference between 12 and 2 is D

E 7 Write the answer. |

Amber has bt sweets. She eats 2 sweets |

How many sweets does Amber have left? D

8 Write the answer

Dad throws o dart It lands on double 7

What is Dad's score?

9 Write the answer.

Sam has 9 marbles, Yousef has 7 marbles.

How many more marbles does Sam have than Yousef? D ‘




Section 1 Sessiﬂn I'" 5 Write the answers

Double & (s D Double 5 is D 6and 6 is ‘:I

1 Joln pairs that total 5, .
: D) el g
AR IR
‘3 & Write the answers
14 > 5 2 r3 The difference between 6 and 4 is D
@ L9 2 S =

The difference between 8 and 5 is D

2 Weite the answers. The difference between 12 and 2 is |:|

YY) . 1 ®e )
[ LA J
@ T Write the ansiwer

Amber has b sweets. She eats 2 sweets

Hew many sweets does Amber have left?

8 Wirite the aniwer

Dad throws a dart It lands on double 7

What s Dad's score?

9 Write the annver.
Sam has 9 marbles. Yousef has 7 marbles
@ SRS S How many mare marbles does Sam have than Yousef? D
2add 3 is [ 1 S subtract 3 i_J 1 add 3 equals D .

The difference between by and 2 [s | ] S . . L
L : B8 10 1142 13 M 15 16 17 1818 20




i jon 5
Section 1 5es55 < |
|
1 Tick the pltare that belonge n 17 ir \ The difference between 16 and b is | I

‘ ! 17 take away 3 is D 20 take away 8 (s I:]
@ 7 Finish the picture
|
2 Sort the numbers (nto the boxes

123k56?8‘|10‘

=t

Odd Even ] | ‘

3 Write the answers

12-a-[ | m_?:EJ 1s:q=_E]. \ ’ .:— —

8 Writk the numbers into the sorting diagram.

% Drow the other holf of the picture | 15 21 S0 26 19 Lo 20 58

9 Write the answer.

wn

[ Then has 14p. He pays 8p for a comic.

Less than 10 e How much money does he have left? I P1
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section 1 check'uP 1 6 Join nimbers that total 10.

-, |
9 \
@ 1 Write the missing numbers | @ 3 L 5 ] 7 8 5.5 !

1 7 Write the answers,
E \ li—i-[:l 2+3-D 5_3’*D
2 Join the numbirs to their place on the number line |

B Write the answers.

_____ = i L Doubleii.sD 7+7-[]

3 Wrire the missing number |

= [ [ |

b Write the musing numbers

9 Draw the rest of the picture

i
i

10 ‘Write the numbers Into the sorting diagram.
15 21 30 16 18 3

. Has the tens digit 1 Does not have the tens digit 1
5 Write the answer mmw f M ’u’mm
Tsaac has B muffins. Freddie has 11 muffins
How many fewer muffins than F D gt e ] ] Y L .
y f ffins than Freddie does Isaae have? 0 1 9 3 &5 b 78 % 4001 A2 13008 a5 16 17 18 e :n.“
______—-'E'—"f‘




sedion 2 Sess'on 1 . 5 Write rhpnmwelmworﬂ-. i b o == 7

@ 1 Haw long s the ribbon? | The ribbon: s ten sticks long. |

[j hlocks ‘ | How long_ would two ribbons be? |:’ sticks

& Write the answers

_ 6 add 5 equals || ke away3is || |
9+9= i 9 add 4 equals |:| 12 subtract 2 leaves I:]

The difference between 9 and 3 is I:l

7 Write the answer.

The string is 6 metres long, Joel cuts off & metres of string

!
How much string is left? D metres |

B Write the ansir,

Lucy has £7. Her dad gives her another £7

How much money does Luey have now? E !

? Write the answer

Thire are 16 flowers in the vase, Isha takes out 5 flowers
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SectiOI'l 2 SeSSiOI'I 2 5 Write the answers,

2and2and2and2L;D 5und5und5L-;D
1 Write the missing numbsers
P'—.\ QL\H : C‘/Ql‘) {:\a’—_\v ﬁ"-:x | 6 Use the pictures 1o help you, :
TP EBTHIP || s

B o
a@’*ma

G5 oot L2 | W e
JJ\@E @q\@gj | 10 shared by 2.5 [ 18 shared by 55 [ |

@ 7 Write the answer

Ava hops (n 25 from 0 along the number track
She makes & hops.

What number does she |and an? D

2 Write the onswers

8 Write the answer
3 Share the flowers equally hetwedn the vases

o3 (% (f 2 E%’ .. ? - Dylan has'5 red apples and 5 grzen apples.
C\(ﬁ%’ '{F ? ¢ ? ? How many apples is that in total? El
@ @ ;l:;:t:uﬁ:wlnr:::g El:;:.'“ 9 Write the answer

Elliot has 6 oranges:
He shares the oranges equally beuween 3 plates

& \Write the missing numbers

[o] 5] [z] (1 1 L o mang orange are thereonech e ]
o] 0 : 0 | 15 % 17 B i 20
[vo] [so] [] [] [so] [} S




Section 2 Session 3

1 Draw the hands 1o shew these times

3 Write the aniwers

Sssasssses)
cBo0°0-s-[ | angsgag 7

b Tick the clock thatshows the eorllest time

afternoon morning

evening

5 Write the answers.

8 add 2 8quals D 10 subtract b leaves D

The difference between 9 and § ig I:l

& ‘Wirite the answers,

19 subtract 7 s D
18 minus 6 equals D
7 Write the answer.

‘ Mum leaves home at 8 o'clack.
She gets to work 1 hour later.

15 take away 3 feayes D

13 subtract b leaves D

At what time does she get to work?

8 Write the answer

Toby has £9. His dad gives him another £3.

How much money does Tohy have now? ‘Z'

9 Write the onswer

There are 15 birds on the roaf W birds fly away

How many birds are left on the roof? D
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Section 2 Session b

1 Tick things that tum

2 Write the answers

3+5=D

3 Write the answers

L Write the answers
7 add & equals D

7 take away 3 is D

5 Tick, circle or-cross the angwer

Put a tick on the right-hand side of the picture
Put a cross underneath the table.

Put a circle above the chair.

& Write the onswers in words.

Eighteen minus seven is

Nineteen subtract four is

@ 7 Lok at the picture for question 5.

Draw a plate on the table.

8 Write the answer, Y
Harry has [ £2 ) and [ € ). Daniel has |H: _t!
How much have Harry and Daniel in total? E

9 Write th answer

There are 18 cows in the field,
The farmer puts b of the cows inta the barn

How many caws are left in the field? D

; 0 N 12 N W 18 16 17 18 ez
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Section 2 SESSiOﬂ 5 5 Put a tick on the lefi-hand .\ld;nj the picture

1 Draw d line on these shapes to cuk them (n half,

6 Write the onswers

9 add 3 equals D 9 subtract l leaves D
@ 7 Write the answer.

' What s half of 107 )

I
Now draw anather ling on the square to malke quarters ‘
2 Put o tick on the right-hand side of the picture ‘

= 8 Draw along o path to the house
3 Write how much the cains total Do this 2 more times _—l—_—]—l ﬁ
— ‘ Put a tick by a right tum. @
ey e = E:I Circle a left rum,
p=® Ll @=@F @
i E ST |

= P P I

2 )ad (2p) [[p] (30) ana (39) [ j@l X

4 Write the answers. ‘ 9 Write the answer

Tom has 10p. He spends p:

Write what is half of b, Write what is a quarter of 4

Weﬁ $ : § |

How much change does he get? E

AR WY S I R 5




Section 2 Session6

1 Count the flowers. Write how many

ﬂ

2 Share the lowers into the vases. Write how many there are [n each vase

?p&9pp  Ppytasle
88 0O MY T IO

3 Write the answirs

L Wirite the answers
Z'I+2+2*2-r.]

lnigahsg?lqm1

5. Use the picture -ln help you
B Fpth g R g
10 shared by 2 is D 10 shared by 5 is D

6 Write the answers

5 add 6 is L—_l 3add'ns|:| QminuhleuvesD

The difference between 8 and 6 is I:’

@ 7 Write the answer

Ruby has 5 red apples, 5 green apples and 5 yellow apples.

How many apples is that in total? D

8 Write the answer,

Max has 10 apples.
He shares the apples equally between two plates.

How many apples are on each plate?

9 Write the answer

9 birds sit on the wall 7 birds fly away,

How many birds are on the wall now?

T
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Section 2 Check-up 2 | i e = o]
: ~ Erin's castle is 10 bricks high.
@ 1 Write the answer Katie's castle is 7 bricks high.
9+9=
D How much taller is Erin's castle
= than Katie’s castle? D bricks
2 Write the answer f

9-6= D \ 9 Draw the hands on the clocks.

3 Write the missing numbers.
[+2] [« (1 1]
L Write the answer

24242424242 |

5 Share the cakes equally onta the plates.
Write how many cakes there are an each plate

Pal e . O &
Q < o @ & < g : 2 o'clock Half past 5
== == : =

T D ‘ i
& Write how mich the coins total

10" Tick the one that fwms. Py
£1 ) and £1) |£ l \10p | and é) E

7 Write the answers

Half of 6 1s | | Quarter of 8 is D rj—'—'—ﬁ—mm

- A L ]
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Check-up 3 Number ‘

@ 1 Write the missing nsmbars

2 Write the missing numbers

zlrs] | [ [

3 Write the answers
1 less 1 more 10 less 10 more \
& Count on from the larger number to find the answer \

205-[]
5 Write the answers

wrtalt]

6 Write the answers

7+7=r__] D+h=m

7 Write the missing number

(=[] [Z]

—

—

B

g Write the answers, |

1+8= |:| 94 D
g Write the mlsting numbaers,

ofololelc |
o] () il [ |
pipjoieio |

10 Write the onswers,

2+z+2-|:| s+545+5-[ | wet0-[ |

11 Share the cakes equally Write haw many ore on each plate. |
S99 @© |
© < 0

12 Write the onswer

156D

13" Write the answers.

8
What is half of 87 D \What i5-a quarter of D
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